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QUESTION 1

An engineer is implementing the Cisco ACI fabric and wants to reduce the amount of TCAM resources consumed by the
fabric The engineer also needs to ensure that all EPGs m a VRF consume the same services 

Which action should be taken to meet these requirements? 

A. Configure a single contract provided and consumed in all EPGs 

B. Configure preferred groups in the VRF for al EPGs 

C. Implement an unenforced VRF 

D. Implement vzAny feature 

Correct Answer: D 

 

 

QUESTION 2

An engineer troubleshoots an Fibre Channel deployment on a Cisco MDS 9000 Series Switch. What does this output
indicate about port channel 1? 
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A. Port channel 1 is configured to be an ISL. 

B. Port channel 1 is configured to connect to an NPV switch. 

C. Port channel 1 is configured to connect to a host bus adapter. 

D. Port channel 1 is configured to connect to an NPIV switch. 

Correct Answer: B 

 

 

QUESTION 3

Which two statements describe about modifying Cisco UCS user accounts are true? (Choose two.) 

A. The password of the user account must contain a minimum of 10 characters. 

B. Disabling a user account maintains all of the data in the Cisco UCS Fabric Interconnect. 

C. Local user accounts override the same account on a remote authentication server, such as TACACS, RADIUS, or
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LDAP. 

D. The password of the user account expires in 30 days. 

E. The admin account can be used to log on by using SSH only. 

Correct Answer: BC 

https://www.cisco.com/c/en/us/td/docs/unified_computing/ucs/ucs-manager/GUI-User-Guides/Admin-
Management/31/b_Cisco_UCS_Admin_Mgmt_Guide_3_1/b_UCSM_Admin_Mgmt_Guide_chapter_01.html 

 

QUESTION 4

A network architect considers a Cisco HyperFlex design solution for a company. The proposed solution is for a virtual
environment that is not performance-sensitive, but the solution must have high storage capacity and a low cost. Which
Cisco HyperFlex storage configuration should be used? 

A. All-Flash 

B. Hybrid 

C. All-SAN 

D. All-NVMe 

Correct Answer: B 

https://www.cisco.com/c/en/us/products/collateral/hyperconverged-infrastructure/hyperflex-hx-series/white- paper-
c11-744026.html Hybrid contains HDD for capacity. 

 

QUESTION 5

A network engineer an EPLD update on the fan modules of a Cisco Nexus 7000 series switch. What is the impact if "y is
selected to continue? 
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A. The switch is power cycled for the fan modules to start running the code and it is auto reloaded. 

B. The update is completed because it is nondisruptive and a power cycle is not required alter the upgrade. 

C. The switch is power cycled for the fan modules to start running the new code and prompts before each module is
reloaded. 

D. The update does not complete successfully and the switch needs to power cycle. 

Correct Answer: B 
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